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T hit! Tm hit! Tve bst an electron !’
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"y Charge —» loss electrons

-" charge — gain electrons
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Name:
Hour: Date:

-hemistry: lons and Subatomic Particles

Yirections: Complete the following table.

o i

lon Symbol Protons Electrons Charge

lo 1% o 5%
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Another Example

The chloride ion in water has 17 protons and 18 electrons so
it has a charge of -1. _ e He o -

He<\§ @

Ions are formed when electrons move from one atom to
another.

What does all this mean?

Sodium and Chlorine are attracted to one another.

They both want to fill their missing electrons.

Sodium has one extra and chlorine has one less.

When they join they are complete and happy and called Salt.
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Page 89

Question 4

Did already so look at next
page and move to Day 13
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Try these
Understanding Concepts pg 89
#4
Also answer the following
questions:

) + o =l
1. A fluorine ion has 9 protons and 10 electrons. What charge will the
fluorine ion have? -\

F

Q"I'R) 4 GZ_) < ¥

2. A lithium 1on has 3 protons and 2 electrons. What charge will the lithium

ion have?
. + I

i
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Charged Atoms Page 89

Because sodium loses an electron to have a full valance. It still has
11 protons, but only 10 electrons therefore the sodium ion has a

charge of +1.

It has one more proton than electron.
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Draw the Bohr diagram for chlorine

Answer the following questions:
[s its outer orbit full?
How many electrons are missing in order to make it full?
Do you think chlorine will gain or lose electrons?
How many protons and electrons will the happy chlorine
have?
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An easy way to look at this is to write the number of protons and electrons in the
element and then in the ion.

Determine if there are extra protons than electrons from the original (+ charge) or if
there are less protons than electrons from the orginal (- charge)

1.c. Naorginal lon ( there is one extra P in the ion
1P 1P therefore Na has a charge of +1
11E 10E

Cl original  1on
17P 17P there 1s one less P in the ion

17E 18E therefore Cl has a charge of -1
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Radiocarbon decays at a known rate,
Paleontologists are able to determine
the age of 4 fossil by measuring the

amount of C-14 it contains, A0
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A small piece of the

fossil is burned and
converted to carbon
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A radiation counter
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